> A
A & 0l & AF 2 E A A
20158 S0la LB H JIEISESH BHusR
A BMDSE
M OtSC2=2stdy 2l
el OtstE 2shdly 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HBHNFR 5,512,619 5,260,822 251,797
2 36,588
< 35,363
Al 5,440,668
OS2 stdy 22l 849,556 870,185 AN 20,629
= 23,064
< 11,532
Al 814,960
OtSC2 23stdy 22l 849,556 870,185 220,629
2 23,064
< 11,532
Al 814,960
OS2 2stdy 299 784,960 804,701 A19,741
101 @124l 48,116 45,321 2,795
04 JIZHHZ2Z2XNESE S 48,116 45,321 2,795
ORJEHIRE=X 48,116
== 41,9203 «3H +250 31,440
== 41,9203 *3H 52 6,540
- A 80,000 = 3H 123 2,880
-nsSE X 60,0002 «3H 128 2,160
= DUE=] 41,9203 *3YH x 12 1,510
“A2H R 2R 7,8603 *1H *22A1 2tx 12 2,076
-2 62,880 x1H 2 »12& 1,510
201 L2l 728,204 727,580 624
01 At 22l 401,084 371,600 29,484
OZIME 364,512
—LBAAE 34,0003 #6521 2 *16Al 2t 12& 339,456
-SE2ANE 26,0002 *31t S +16Al 2+ 122 14,976
—QIEH2AAE 20,0003 +61 S +7Al 2t+12& 10,080
OWM &« I ¢ 15,600,000 15,600
O= &l 5,000,000& 5,000
OMe+=2 SNEANMS E ===8 ¥ SXH|
5,000,000 5,000
OOSU22HE EES MEH
1,600,000& *43] 6,400
OOISU22stHE 3228 SMS0IE2
11,000 128 132
OZFEstusZ CHY AEEZ 270,0002 <12 3,240
OXEIlg HI s 7+ 100,000& »123] 1,200
02 =224l 323,620 349,480 A 25,860
OEMRAUTHANAHS AU (23HEE 2 444
) 9,500,000 9,500
OFALS2CIUHE =2 (2SHHH 2 20Hn)
4,000,000 4,000
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SN BYDSE

g OlSU223tdE 22l
=

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
OZANIALRI(23HHH 2 2IH)
2,500,000& x12& 30,000
OFXIINHHHLUE === (2tHH 2 2)H)
9,500,000 9,500
OSAIII NI (2SHHEH 2 2)HA)
250,000 x4 123 12,000
OFAL SANLRLE2(2tdH 2 1HL)
400,000& 400
OBMAS B2 (2HEH 2 22HA)
460,000& x12& 5,520
OIS (2SHHH 2 4HA)
10,800, 000& 128 129,600
Qo+ (2SHMEH 2 2HA)
1,000,000 »12& 12,000
OF=JIL vl HES(2HE 2 2IHA)
750,000 128 9,000
OIAAE HIIEA 100,000& 12l 100
OF=PNF=FL:]| 25,000, 000& 25,000
OFAEZTYH 5,000,000& 5,000
OMd=Zx &2l 1,300,000& 1,300
OdzHl(0lsA e SEI/8) 1,500,000& 1,500
O3S (S8, 2%) Alg&el |l
10,000, 000& 10,000
OANEEHI(HE 01 ,8D]) & |A2L
25,000, 000& 25,000
Ot as X zeltl 8,000,000 8,000
oxZ el 13,000, 000& 13,000
O&Wxd KAl 600,000& 128 7,200
OZHOIX |XE= 250,000 128 3,000
OXt& =Xl 3,000,000 3,000
03 A2 S HI 3,500 6,500 A 3,000
Ox=24 S AXA 2,000,000 2,000
OZA2tg sl & 1,500,000 1,500
202 odl 2,000 1,800 200
01 S LHOIYI 2,000 1,800 200
OtEL22atdlH HRFA 2,000,000& 2,000
405 TtobH S| 6,640 30,000 A 23,360
01 AL EZFH S 6,640 30,000 A 23,360
O=3tH Mt ¢ 830,000& »4CH 3,320
O=JtH &AM HIOIZE 2L 1,700,000 = 1CH 1,700
O=JtH 2/ X ¢ 180, 0002 9K 1,620
HIIESXJAA X129 18,468 26,484 A8,016
101 @144 Hl 16,968 24,984 A8,016
04 JIZHHZ22XREE S 16,968 24,984 A8,016




SN BYDSE

g OlSU223tdE 22l
=

th2l: OLSCH 23tHlE 22| (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OdfllE2Ea BEEWAH(1Y) 16,968
- Q24| 49,000 x1&H »250 12,250
- F=F4 49,000 x1H «52== 2,548
- = A 80,0002 x1H x12& 960
- WEEXH| 60,000 x1H x12& 720
- X< 49,0002 x1H ~10 490
201 gBt24 | 1,000 1,000 0
01 AP 22| H| 500 500 0
OdlIl E=x4A 24 AIR222lH| 500,000& 500
02 B232ZH| 500 500 0
OdlIlE=4 HHMMAES It 500,000 500
206 M = dl 500 500 0
01 =4l 500 500 0
Ol 224 29 M2 & JIXNHM #¢
500,000 500
HAEFSXNANHH A 2H 46,128 39,000 7,128
= 23,064
o= 11,532
Al 11,532
101 e1214| 46,128 39,000 7,128
= 23,064
= 11,532
Al 11,532
04 J|12tHIZ22NEES 46,128 39,000 7,128
OJIZtHIZ22XE B 39,000
-F A AH A @ AHH| 37,800,000& 37,800
= 18,900
o= 9,450
Al 9,450
STOIH $BR U SHON S BSIY|
1,200,000& 1,200
=2 600
= 300
Al 300
OFILEAHAN a8 Z L AdH2YH|
297,000 x2H x12& 7,128
= 3,564
o 1,782
Al 1,782
WEEXNAS LHA S 3,008,302 3,042,564 N 34,262
ZUHE W DAY BX 1,428,517 1,413,586 14,931
SO=ES =H 1,424,517 1,413,586 10,931
201 2Et2Hy| 1,000 1,050 A B0
01 AP 2t 2] d| 1,000 1,050 AB0




2N

0
0

HMIEA
M DEEXNXNE WA s
S 2SS no nE3d X (9 ® =)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ou=SIdNEEERAS Ad=E
100,000 x5H 23] 1,000
202 o4dl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
Ou=s3dHl 28 g2F4 2,000,000 2,000
308 XX EHH SOl A 1,421,517 1,410,536 10,981
08 I 20UEtE=x 1,421,517 1,410,536 10,981
OAl &9 XI& At 867,764
NE=EDNE-RPNE.] 18,200,000 18,200
-Xole st - & 2g4 N& 96,000,000 96,000
-S1s ARAN X2 49,863,000 49,863
-ESI0MEMEH X 180,000, 000& 180,000
A28t SIRL X2 30,000, 000& 30,000
-5t oS As X& 42,000,000 42,000
-0l=21 Mot LA 30,000, 000& 30,000
-EEstw HSI|(SE¥2Hn)
330,000,000& 330,000
-3ladcy EQsn 29 50,000,000 50,000
S CCTVRM(BUWES L= W)
18,301,000& 18,301
- WEE ZEH Li(SEFE0NSsW)
23,400,000 23,400
Ous&d HSEXAEY 553,753
-2 SSud 2 (2 =S8 11HR)
159,800, 000 159,800
-SAUSZAH(KNE=SE W) 79,560,000 79,560
~HUSAIE A (BAE=SE)
61,500, 000& 61,500
“DAYY Y SCHEDH(MHESSD)
103,469,000 103,469
SERSHENT U HM0IS2Z ETEHIAH(A
LESSE) 27,614,000 27,614
O EZSMA(BESHAEE W)
121,810,000& 121,810
StACEs N (2R02SI +=stFAUS) 4,000 0 4,000
307 glz2+0ol & 4,000 0 4,000
02 YAFHAANGEEE 4,000 0 4,000
OstaAHgsl =st3AIa XI& 4,000,000 4,000
st A X 1,579,785 1,628,978 249,193
stunsa XA 1,579,785 1,628,978 A 49,193
308 XtXIEHH SOl A 1,579,785 1,628,978 A 49,193
08 WHII20HStE = 1,579,785 1,628,978 A 49,193




2N
X ZH -
L= B
el

=R InE Y-
DE=EXNAY Hast
S AT

(o
SA BB (SH) - NRAY - B %Ei 2t
Ogerol 320l HAXNA (NS A0 = - 3
-1 2301 m) 55,121,000 55,121
OXgegle stn(fa)24 I (AMEKIIH, =
E=5t) 1,524,664 ,000& 1,524,664
TMESSHM 25 191,730 194,945 N3,215
& 18,035
Al 173,695
M= 191,730 194,945 N3,215
= 18,035
Al 173,695
HOlI2of ALY 41,810 40,095 1,715
201 B9 11,880 11,880 0
01 AP 2t 2| H| 11,880 11,880 0
Os&H0s ds XS 990,000& x12& 11,880
307 giz2to| A 29,930 28,215 1,715
02 AI2tAAMAIE E =X 29,930 28,215 1,715
Os&&0ts 244 XA 29,930,000& 29,930
HMPEIT2)2 29 38,850 29,850 9,000
201 et 9| 8,800 4,000 4,800
01 AP 2t 2] H| 4,800 4,000 800
OEESHE(Z202td0l ) 4,000,000& 4,000
OMINRE2S A=Y 100,000& x4H »23| 800
03 A2 | 4,000 0 4,000
OO0l SYHI(JHY & 224 5)
4,000,000& 4,000
202 044l 2,000 1,800 200
01 2L I 2,000 1,800 200
OBMDS T8 2 #A XA
2,000,000 2,000
203 €2 F=&d| 4,050 4,050 0
03 AIEH =X H 2 F XY 4,050 4,050 0
OBMDSR NHAL =7 4,050,0008! 4,050
307 Q12t0| ™ 20,000 20,000 0
05 QIZ2tE 2 20,000 20,000 0
O=ssdA gelotgol 249 20,000,000& 20,000
405 XHAHFI S HI 4,000 0 4,000
01 XAt 2 ZF S| 4,000 0 4,000
O&E X2 A 4,000,000 = 1CH 4,000
TMINFAIE QX2 &S 15,000 10,000 5,000
308 XAXISHHM SO0l & 15,000 10,000 5,000




2N
X ZH -
L= B

el

0

N

=

08 08 08
0z 0z 0z
SIS
Ho > Ho

X oz
10

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
07 IXNSHH AR S = 15,000 10,000 5,000
OIS AAH SER2IEES
15,000,000& 15,000
ZI| H=2ss0tE ¢SI WEMY 50,000 50,000 0
< 10,000
Al 40,000
101 @124 dl 16,000 16,000 0
< 3,200
Al 12,800
04 D12t Z2XREES 16,000 16,000 0
Ol g=ss0ts 29 Ay
16,000, 000& 16,000
< 3,200
Al 12,800
201 Let24E] 34,000 34,000 0
< 6,800
Al 27,200
01 At 22l 31,000 29,000 2,000
OZJl #=sts0ts 234l 31,000,000 31,000
< 6,200
Al 24,800
03 A2 S HI 3,000 5,000 A 2,000
OdJl d=ss50s (MY, 52,488 5)
3,000,000 3,000
< 600
Al 2,400
SHFOe BN X 30,500 30,000 500
= 6,100
Al 24,400
307 21201 A 30,500 30,000 500
< 6,100
Al 24,400
02 ItFAAFE R 30,500 30,000 500
Odel Zojel ddn=s X 30,500,000& 30,500
< 6,100
Al 24,400
ddus Ssloz )y 29 6,120 30,000 A 23,880
201 £B-2dH| 6,120 30,000 A 23,880
01 At 22l 5,120 28,500 A 23,380
OS4ds us Mg & 5,120,000 5,120
03 &Ar2 I 1,000 1,500 A 500
OSsE20d & ds s 1,000, 000& 1,000
ScgzZoeetn XN (HoHe gelstn 29) 3,000 0 3,000
307 21201 A 3,000 0 3,000




0

N

=

08 05 08
0z 0z 0z
SIS
Ho > Ho

X oz
10

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
02 YAFLAANFEE 3,000 0 3,000
O&oe golstn 2¢ 3,000,000& 3,000
DEAAAE Led 2208 29 6,450 0 6,450
= 1,935
Al 4,515
307 21201 A 6,450 0 6,450
< 1,935
Al 4,515
02 It S AMHEL 6,450 0 6,450
O NEAANHE dete AFHH X
6,450,000& 6,450
< 1,935
Al 4,515
EHBAC2 AN TH2 A 25 909,081 710,555 198,526
= 13,524
= 5,796
Al 889,761
Ao FEMUIA HME 106,250 100,000 6,250
B3NS 7Y 100,000 100,000 0
405 RHoHF S HI 100,000 100,000 0
02 = A=l 100,000 100,000 0
O3 IHz2Y 100,000, 000 100,000
SEMUsZZ2OY 29 6,250 0 6,250
201 Let24d] 6,250 0 6,250
01 At 22l 6,250 0 6,250
OLANB(SH2E T2 2|)
25,0003 *51t = «50A1 2+ 6,250
S MEAE EF2te 802,831 610,555 192,276
= 13,524
< 5,796
Al 783,511
ANEEM2 SR 2e 208,402 161,129 47,273
101 14l 37,822 35,709 2,113
4 D12t Z2XREES 37,822 35,709 2,113
YL U2 36,690
-Jlg=s 41,9203 5 x150 31,440
- S| 3,000 «5H x150! 2,250
-S4l 4,000 +5H «150 3,000
OM=z=AHFL 41,920 3 3 »33] 1,132
201 Let2d] 110,580 107,320 3,260
01 At 22l 36,280 34,020 2,260
OENZ22ER3s & 2,500,000& 2,500
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SN BUDSS
M BoIUCZAHY A2 g 25t
el S MZAIE E X 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&LAEE & A EY 5,000,000 5,000
OFJIndE =8 10,000,000& 10,000
OENMZEE 2IEUS HE 5,000,000 5,000
Ol=3ds =23 3,000,000& 3,000
OEAMEH & Hel=23 7,000,000& 7,000
OXNs&HT I AN S|
7,000& *180L »3H 3,780
02 2324l 74,300 73,300 1,000
OXt& =Xl 4,000,000& 4,000
O& LA A S X2 =4l 500,000& »12& 6,000
OFALESHI(SINEFELEM &) 5,000,000& 5,000
OAEZHI S X 15,000, 000& 15,000
Oxg &l 2,000,000& 2,000
OSMBHA(U,2)HLESA 12,000, 000& 12,000
OEAMZZE A S 20,000,000 20,000
O83xz+=HsE 2,500,000& 2,500
O83dl=2g3a 800,000 800
OREZER3 300,000& 300
O&IAEHAEE 5,000,000& 5,000
OdI = N2U3l &Ital bl 1,000, 000& 1,000
OMASI| KA 175,000& x4 3] 700
202 odl 2,000 1,500 500
01 = LH o4 1l 2,000 1,500 500
OENMFLEEA 1,200,000& 1,200
O3 dadA & HRF2 800,000& 800
401 A& HI L 2T 33,000 7,500 25,500
01 A& HI 33,000 7,500 25,500
OSIHH(=ES4) EXSA
21,000,000& =14 21,000
O35 |4 HYI| NSEXSA
5,000,000 » 14! 5,000
O3ZF MNUEZEY S EIIEXSA
7,000,000 » 14! 7,000
405 XHoHF S HI 25,000 9,100 15,900
01 AL EZFH S 25,000 9,100 15,900
O35 EEAD 2ga WA 2,500,000 «10CH 25,000
FBENZ SR 2e 243,892 201,179 42,713
101 14l 37,822 35,709 2,113
M4 D122 E2EXREES 37,822 35,709 2,113
OgEHRNE =2 36,690
-Jlg=s 41,9203 5 x150 31,440




SN BUDSS
M 23 ZAORMY THT AY B3
el S MZAIE E X 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- SH| 3,000 «5H «150<! 2,250
-S4l 4,000 5 x150 3,000
OM=z=&HoF 41,920 3 x3 »33] 1,132
2 Et2 HH| 98,270 93,970 4,300
AtS 2tel ] 32,270 29,970 2,300
OoAx& 2= MAEH s 2,000,000 2,000
OFIIUHZE #=2 8,000,000 8,000
OQHLULABRE(EU,SAXS) 3,000,000& 3,000
OBAESH ¥ & A2F
500,000& 12& 6,000
OEN2 283 HA 400,000& *23l 800
OBJI&EE &daasH ¢ 250,000 128 3,000
O ALK& XHE 2 HI 7,0003 30 *7H 1,470
OQHLULARE(GIEM , EXSAHAXU S)
3,000, 000& 3,000
O=ZAN2tdE AZE(ZSHOZ 5)
3,000,000& 3,000
OZANUESAS(Zetel=2 Z£&) 2,000,000 2,000
32| 66,000 64,000 2,000
OFSFAUNESS= PPN EE: ] 3,000,000& +x12& 36,000
O&EM2 E3lHl 2E3 500,000 500
ORERaIFY 150,000& 128 1,800
OANEZEISXBI (A2, J1H,801)S sA2a
15,000, 000& 15,000
OFET A2 & H2EH2 A2 HAEAHL
10,000, 000& 10,000
OHMA=I| FXEH] 700,000 700
OdJ|2e A2F 2,000,000 2,000
04 i 2,000 1,500 500
= LH 04 H 2,000 1,500 500
OZN7Y &M & WSS Yl
1,200,000& 1,200
OosYHesle a4 2 T A2 e F20H|
800,000 800
eyl R=tga] 5,000 5,000 0
2 & AR 2 5,000 5,000 0
OZM& AZEQN RLUH(=MZL V3)
5,000,000 5,000
AHEES S| 100,800 17,500 83,300
T E S FH S 100,800 17,500 83,300
OdAE Jtiict 7 500,000& = 1CH 500
OUEZE €28 stad ¢ 300,000 1CH 300
OXlot EEMIW MIt 7 7,500,000 24! 15,000
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2N
X ZH -
L= B

el

H1 HD o

MDY
HZACRMO TAHD AE 23
HZAIE 2 =22

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBduwW=sa SHOXN BAH 7L
50,000,000& » 14! 50,000
OBdu=3 L8 2 35,000,000 14! 35,000
et 2R 20,000 0 20,000
201 Let2d] 9,000 0 9,000
01 At 22l 9,000 0 9,000
Ooxs2zN2t 24 9,000, 000& 9,000
405 TtabFH S| 11,000 0 11,000
01 HatE ESFH S 11,000 0 11,000
OEAM7Y 10,000, 000& 10,000
OHIEAMXZE Mot 1,000, 000& 1,000
ANEEM2 JH2EAIZ2E AZALY 38,640 37,800 840
= 13,524
< 5,796
Al 19,320
101 @124l 29,640 28,800 840
= 10,374
= 4,446
Al 14,820
04 JIZHHZ2XNSE+ 29,640 28,800 840
OBTEHE WBAIZ HF o2
29,640,000 29,640
= 10,374
= 4,446
Al 14,820
201 Let249] 9,000 9,000 0
= 3,150
< 1,350
Al 4,500
01 At 22l 9,000 9,000 0
OSHEIM2 24l 9,000,000 9,000
= 3,150
< 1,350
Al 4,500
ZIIS2E=SHLS0l LXel A 25,200 25,200 0
201 24l 25,200 25,200 0
01 At 2t 2l 25,200 25,200 0
O=sSAXE ZAME 24,400,000& 24,400
OuUsUM S(M=zHl) 800,000 800
MEEAM2 3652 24 128,900 109, 287 19,613
101 @124 dl 106,900 87,287 19,613
04 JIZHHZ2Z2XNHESE = 106,900 87,287 19,613
OgegaRid a2 106,900




2N
X ZH -
L= B

el

H1 HD o

MDY
HZACRMO TAHD AE 23
HZAIE 2 =22

SN HH-S(BN) - MBAY - B il HlnE2
-Jl=22 41,9203 «7H +250 73,360
= 41,9203 x7H 52 15,259
- AR EFIHE 41,9202 *7H x102 2,935
- dHgAlyl 80,0003 «7H 128 6,720
- WSEXH 60,000 «7H x128 5,040
- N2A2RE 77,8603 x 1 #22A| 2t 122 2,076
- FY2R2E 62,880 1P 22«12 1,510
201 et 22,000 0
02 =224l 22,000 0
OHALEY 22,000,000& 22,000
SN2 BARY 32,500 0
201 2et24d] 32,500 0
03 &Ar2 Z I 32,500 0
O=Adna 2 gstEX 3,500,000& 3,500
O=Ma2dg 3,000,000& 3,000
O=3tnazd 7,000,000 7,000
OSHMaAE A 4,000,000& 4,000
OHEAAHASEZIHR2Y 5,000,000 5,000
O=AMNOtetEHE 29 5,000,000 5,000
OoZz)dolsi & 2ZAH 2He3l 2,000,000 2,000
OO AUHFI ALY 3,000, 000& 3,000
FEEAZ SHA2IE 46,260 2,800
201 £e-2gH| 46,260 2,800
03 A2 Z Hl 46,260 2,800
O=SAEHERZZ 7,200,000& 7,200
OgssNMue & E2 24 3,500,000& 3,500
O=AM3 2Z(H#el= 20, HElolsAMal)
4,200,000 4,200
O=23una 24 12,000, 000& 12,000
O=AAY A 4,000,000 4,000
OR2ssd (&= S Il 5,000,000 5,000
O&E3s ZA=¢ 480,000& x12& 5,760
OHEAAANES 29 3,600,000& 3,600
OZAL2Le 2tE 3l 1,000, 000& 1,000
FESAZ tzd 299 59,037 59,037
101 @124l 59,037 59,037
04 JI12ZtHZ22 a2+ 59,037 59,037
OXz4a gREX 22y 59,037
-Jlg=s 41,9203 »4H x250 41,920
-=Fd 41,9203 «4H 52 8,720




A BMDSE
M BoIUCZAHY A2 g 25t
el S A2AIE EF2te (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-Z A S A 80,0003 «4H 12 3,840
-nEs2 x| 60,000 «4H 128 2,880
P = R R = 41,9202 *4H 102 1,677
HYRIHH (BMHNSR) 253,950 242,573 11,377
HIH (B NER) 179,220 169,975 9,245
NFoIHH(HMLNRR) 179,220 169,975 9,245
101 @124 dl 179,220 169,975 9,245
03 RIAHAZ 2B+ 179,220 169,975 9,245
O Hdak? A2 (23dH ANEEA2 FE
SNE) 179,220
-Jlz22 922,2403 x7Hx123 77,469
-&d0= 77,469,000 *1/3 25,823
- I3 922, 2403 «7H * 123 *12% 9,297
- ANz2tel=¢ 7,8603 «7H*22A 2tx 128 14,526
-5L2RHE 62,880 «7H 22 x12& 10,564
- AREFIHsE 41,9203 «7H 10 2,935
- == 41,920 7 H »52== 15,259
- N gAH| 80,0003 «7H » 12 6,720
- WsSEXH 60,000 «7H « 122 5,040
- SE F Il 553, 3403 7 %23 7,747
- s 320,000& =128 3,840
J=2Z3H(BMIEH) 74,730 72,598 2,132
2B (BEMDEH) 74,730 72,598 2,132
201 £B-2dH| 17,730 16,630 1,100
01 At 22l 17,730 16,630 1,100
ORA2Y AtR22ll 17,730, 000& 17,730
202 o4dl 51,840 51,840 0
01 = LH o4 1l 51,840 51,840 0
OJlgge=adudl(27Y) 51,840,000 51,840
203 ¥ =&l 5,160 4,128 1,032
02 §AJHat S =AY 960 768 192
OIS R F A 40,0003 249 960
04 FN2ELSZ=TH 4,200 3,360 840
ORMSLYRF2HI(302!015t)
350,000 x12& 4,200
Hees(HHus) 300,000 200,000 100,000
WEHATS (BEDS) 300,000 200,000 100,000
HeHNEESIISHES 300,000 200,000 100,000
702 JISHES 300,000 200,000 100,000




SA dEu=sd

HH: HRES(BYDSH)
©He WREHAXNS(BHDNSH)
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
M II3dEE3 300,000 200,000
Oog & ANEHESII= 300,000,000 300,000




